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Acids/Bases

1. Write molecular, complete ionic and net ionic equations for the following neutralization reactions.
a. Aqueous phosphoric acid (H3P04) reacts with aqueous calcium hydroxide.
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What is the final pH for.t~is reaction? _~7__

b. Aqueous sulfuric acid reacts with aqueous potassium hydroxide.
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What is the final pH for this reaction? 7
2. Write equations to show the dissociation/ionization for the following in' aqueous solution.
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NH3 + HCN -> NH/ + CW

Equation

HN02 + H20 -> N02- + H30+

-

Conjugate Base

a. HCI (strong acid)

c. KOH (strong base)

d. NH3(weak base) Look at your PPTslides for help!
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3. Complete the following table.
Acid Base COIuugat.eAcid



d. 8.334 X 10.4 HN03-plf: 3,O'Q I
AOi)

4. Calculate the pH for the following and indicate if the solution is acidic; basic or neutral.
a. 0.25M HCI b. 1.45 x 10.3M H2S04 c. 3.6 x 1O.2M NaOH
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5. What is the pH of a solution made by diluting 25 mL of 6.0 M HCI until the final volume of the

solution is 1.75 L? M::. ~ L' 1'.f ':- me;, I J
L. .-0215L.. ~,O~ ~ .£,J6Mt> I :::~DZloM_

1,'eL L:::-:

6. What is the [H+] for the following:
a. An HCI solution with a pH of 3.45?

( H:I :::lOP tf 10-3,LIS'" ::: 3 i is X ID - """ u'"
b. A NaOH solution with a pH of 8.977
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c. An HN03 solution with a pH of 6.323?

10-~),.323 ~ y, 16" X ID-7 H""
7. An acidic solution has a pH of 4. If I dilute 10 mL of this solution to a final volume of 1000 mL, what is

the pH of the resulting solution?
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8. You titrate a 35.0 mL sample of HCLwith 0.10 M Mg(OHh. The titration requires 23.8 mL of the base.

Calculate the concentration o~ the HCI solution.' $ ~ C\ -::. -~ b VA 0,10 &.f ~~(DH)z
Mo.VD\ -:. Mb Vb VA. = 0, 20 ~ otf-

. MQ. = 0.20"-1 ()~:")(23,JtML O~) ::::lO. filM 001
(3~.0W1L.H') ---- __ -.1.

9. You titrate 25.50 ml of 0.35M H2S04 with 18.60 mL of NaOH. What is the concentration of the NaOH?

"..Mo.::' 0.35/1 ~I~ ~ ::: O,7()~ H-t
lllil)..,

Mh ::: (0.70M#-)( 2'5. 50ML.) = ra, qIRM flb.0H1
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10. What is meant when an acid is described as strong or weak? . . \
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